CpE5110/CS5700
Homework #6
1.
Problems 7.16, 7.17, and 7.20 pp. 300.

2.
What is the effective access time of a memory system that has a cache access time c, a hit ratio h, and a main memory access time m?  Typical values are c = 3, h = 90% and m = 15.  Access times are in clock cycles.

3.
Write an algorithm for a fully parallel associative memory to calculate the 2s complement of the contents of the memory words (Each word contains a number).

4.
Write an algorithm for a fully parallel associative memory to increment the contents of the memory words by “a” (Each word contains an unsigned number, do not consider overflow, and “a” is an unsigned number).

